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2018 (A) CJQQ}/ V)

SSC PART-I1(9™ CLASS) ’

PHYSICS (NEW SCHEME)  GROUP-I weprS (EDSF
TIME ALLOWED: 1.45 Hours SUBJECTIVE &2 214555
MAXIMUM MARKS: 48 484 F

NOTE: - Write same question number and its part

number on answer book, as given in the question paper. -q..twuf;.wlffxééw/:}:}mi/dlr(ﬁ:{Ql’L}lﬁ-uﬁJ
SECTION-1 sl .«

2. Attempt any five parts., 10=2x5 -Ef e lizbie $I 2 AUy
(1) You are fifteen years old. Estimate your age in seconds. e (F Lo D g1 A A O
(if) How is stop watch used? ?;.J?Jdb»‘*h{@b?l‘, (i)
(iii) Express the following quantities using prefixes. “EE b esald 384 gy SUshrSipier (il
(1) 5000 g (ii)52x 10"g (1) 5000 g (ii)52x10™¢g
(iv) Define uniform acceleration. Ey SR ;‘f.-:pugg Gv)
(v) Define position. Is it vector or scalar quantity? —S‘.;.Jui’»/%c L /‘—.(;._,Lf..gt.f.@ /7 & ﬁig W
(vi) Define speed and write its unit. _.;:’fr._‘f'ﬂu'r.ul_éu.é’ ,}"J 2 (vi)
(vii) What is meant by banking of road? Cesi U 30T B (vid)
(viii) State Newton’s third Law of Motion. ~EEIG AR S 6 (\iiii)
3. Attempt any five parts. 10=2x5 -é.;f 2Lz @c-lj!( 34Uy
(i) Define rigid body and moment arm. Ef el s
(ii) Define centre of mass and centre of gravity. e PSS ST S ST G

(iii) Why does the value of ‘g’ vary at different places? Explain .gfeobte $nud ¥ quf ¥ =dd g Gid)

(iv)How do we represent gravitational constant? Write _.é_;,gvc.;;gs;JJ:?.‘;_tngﬂWdf/‘:ﬁf’fﬁ’dzf (iv)
its value in SI unit.

(v) How much away the moon is from the earth? In how many & &(1,./. Lut);tg*-‘q.z;i’;ﬁi( etk (v)

days, moon completes one revolution around the earth? ?cﬁ-t‘f Jj U
(vi) Write Einstein’s mass-energy equation and the value of 4,»;&{& u.ulné..:.«lsl.—f'd-fl*'JLJ ST (i)
speed of light in SI unit. A Luysiadd

(vii) Write importance of wind energy. E e §8 N5 (D)

(viii) What is meant by biomass? How can electricity be vq_cﬁ, S Lﬁ-c_w&:“;,; Al L (viii)

generated by it?

4. Attempt any five parts. 10=2x5 EiF ez limbhedfafd iy
(1) Write two important features of kinetic molecular mode! of matter. -g’f ekor® ULV s/ L..@‘JKLH:L @A)
(i) What is meant by plasma? el Gi)
(iti) Define density and write its equation. -_,AJ:.{!:L-L{J PERY AT
(iv) Differentiate between temperature and heat. -,é Cudtenz »'/,-’-A'; Gv)
(v) Define lower and upper fixed points of thermometer. FE ISP I LR W)
(vi) What is meant by transfer of heat? Sl pa itz (i)
(vii) Differentiate between conduction and convection. ECWIIRSELNS I Gid)

(viii) Write two uses of convection currents. __ér atlv‘ifnsaéf'/ Jif,.r (viii)
SECTION -1 (22
NOTE: -~ Attempt any two questions, 2x9=18 ..5{4}’ a@lﬂﬁwﬂlru;&f-&i
5. (a) Derive 2nd equation of motion with the help of ~ (4) S tesab S Fe b el a7 ()5
speed-time graph.
(b) A stone of mass 100g is attached to the end of a ci LS RIS I E Ak Z.utrrf 100 ()
string 1m long. The stone is rotating in a circle eSS st Sms K Fee s
with a speed of Sms™. Find the tension in the (5 L JE LG
string.
6. (a) g]clﬁi?i% iiuetic energy. Derive its mathematical @) .y .Gl..-;!:L»QPJJI-_Z;-.@ PEGH e3¢ (-6
(b) Find the magnitude and direction of a force if its (5) S2N L X0 2 e ter St (L)
x-component is 12 N and y-component is 5 N. -&- 5N 2oy

7. (a) What is thermometer? Describe the properties of @) Lol Ji él.é_._lsi_xdb}iu-’.w?c_y/ AZ ()T
liquid used in it. ) it ;

(b) A cube of glass of 5 cm side and mass 306 g, has LS 1e306 g W d LE5LES 2 ES (L)

a cavity inside it. If the density of glass is 2.55 U1752.55 gem® 53 EE i Qe dL Qurid
gem™, then find the volume of the cavity. (5) N L e
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TIME ALLOWED: 1.45 Hours SUBJECTIVE _.&i.» a5
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NOTE: - Write same question number and its part S - Iy S 7 é’b” ﬁ:’,z”’ A i 4"&(‘}, i)

number on answer book, as given in the question paper.

SECTION-1 sl .«

2. Attempt any five parts. 10=2x5 & el fie L2 Ay
() Define Least Count of Screw Gauge. AN e ALE S
(ii) What do you mean by Vernier Callipers? S W T %s G
(iii) How is the measuring cylinder used? ‘.'.;.I:'Lyy’dl.-?flr_;”zi'lféj g Gid)
(iv) What is the difference between Rest and Motion? T;.J)_u’tﬂg’rm-.‘.-i.« (iv)
(v) Define circular motion. Ealdirt s W
(vi) Define Force and its unit, G Sy Lssigd (i)
(vii) Define momentum. Write down its formula. -“egur;ﬁ(.jl-g,‘:' - /‘."J(“I“-:’ »  (vi)
(viil) State Newton’s second law of motion. I KT KT (i)

3. Attempt any five parts. 10=2x5 &M lizbie 3 Ay
(i) State the principle of moments. -g;{ug-.dfls’f" P ¢))
(i) Define centre of mass and centre of gravity. v PSS ST G
(iil) Define gravitational field strength. S ..-::’LBJ,U}J"EU’;/’ (iii)
(iv) What is meant by global positioning system? st e f™ ...ﬁJ;gJ.f Gv)
(v) Why we cannot feel gravitation force around us? $E S .f’ g u/ S u‘j/ :fulr.r S CO)
(vi) Define efficiency of a system. Ew ST W
(vii) Define power and write its equation. e Sng s Ty (i)
(viii) Iljl; E:N 12;11(1;1}; ?as power 1120 watt, convert it into horse s U:J,EJJ{V,(J. 7 n*,,nzo,,,w el A tuiid)

4. Attempt any five parts. 10=2x5 ezl S Aty

(i) What does show the sudden fall of atmospheric pressure at a place? ¢t/ 6y Lnﬁ’ ol 2 S, 25 ®

(i) How does a submarine move up the water surface and down u/._»uﬁa@’c)fwﬁdtmz 5(.(&1»' (i)
into the water? Explain.

(iii) State Hooke’s Law. What is meant by elastic limit? St pfa sd By Sk 6EL i)
(iv) Convert 50°C on Celsius scale into Fahrenheit temperature et JE oAk iz A 50°CLE AT Gv)
scale, FEEPR = " .
(v) What is thermometer? Why is mercury preferred as a L ES SRy BISS prabenf v 7 (V)
thermometric substance? e Qe
(vi) Explain the impact of greenhouse effect in global warming. el et S A E )
(vii) What is meant by land and sea breezes? Sl e S /.,*-) »ld::r-) (vii)
(viii) Define rate of flow of heat. Also write down its equation. L S GEd PSS L7 i)
SECTION —-1I /.2
NOTE: -~ Attempt any two questions. 2x9=18 -g‘}:/_f ezl el uc:..J:( g
5. (a) Derive third equation of motion with the help of speed- 4 it A S 7 esal IS by (NS
time graph.
(b) A bullet of mass 20g is fired from a gun with a muzzle 5 ....sséc.,dLJumu’u Lf’deJLr'lfzo.fl (s
velocity 100 ms™”. Find the recoil velocity of the gun if ,f.’»z:r}"g,r Bl S 195, L Js 42-2-100 ms
its mass is 5 kg. -& SkgU WU
6. (a) Explain energy which can be obtained from water and 4 _éyu,f‘;&;ld[,i_ﬂwbc_éjyﬂi‘;__,GL ()X
the sun sources. - - & o
{b) A man is pulling a trolley on a horizontal road with a 5 §30 xzflfcc J/d’ii 208 ?OONJ’,.II (<)
force of 200N making an angle 30° with road. Find the AP Lid wels é‘k UV S (s Qb o
horizontal and vertical components of this force. -c‘:fs"" u"’ frdﬂ’
7. (a) Write the factors which affect the rate of evaporation of a 4 _w;’_,"jp[@’}&/‘:m ,»_:J&;J/,; Jifes ()7
liquid.
(b) The upper head of a pin is a square type whose one side 5 -« 10mmA- £ S -a & 00K L ()
is 10mm. Find the pressure on it due to a force of 20N. .u)/ r:’-” Al e s JZONJI:J/JI

19-2018(A)-48500 (MULTAN)



- BOARD OF INTERMEDIATE AND SECONDARY EDUCATION,MULTAN

« OBJECTIVE KEY FOR SSC/HSS #8#h/9th ANNUAL/SSRREY EXAMINATION,2018

o

Name of Subject: ﬁj’%dz Session____20/7— 2¢ 0/?
Group : st Group: 2nd
Q. | Paper Code | Paper Code | Paper Code | Paper Code Q._| Paper Code | Paper Code | Paper Code | Paper Code
nos |47/ (873 (%78 (%77 | |nes|V97R V974 | /57 1) 78
il G | C 8 | D 1 | € | P 8 | C
2 | C D 8 C 2 | B B 8 C
s A B 1 D Z | [:|D | B cC | D
« | C | 8 D | C « | B | B | C A
5| D B c | C s |1 8 | B | D A
6| B D 74 A 6 | & C A C
18 (B | € & 7 | & | G A | &
s | B | C C | D s | & | D c |D
o | D Z A & s | C A B ol
10| D C C B 10| D A D B
n| ¢ C D B 1m| A e B &
12 Z‘ A B \D 12 A 8 8 %)
13 - e e o P IS p—
14 | Cams (OPions (U3 2 .Z i 14 vl al v
15 | g1 ’G-u’/uj),,};f 2 UL_:’ S 15 / / /
16 dme@ ot # S els 5 16 7 /| /
17 |Optionsf -L‘l’.f.-/ fill 5| option 7| 7 ¥ E 2
18 | 2 DI |G Sldens I d v 18
19 AP 19
20 20
M_x_tg.{;zé.b_-;&
u’zowuwd’/,uv}_f/ X E ILF oS bak-I() ré" sy

e U Set(ba L Syllabus 2 4 -« /G 24/ (Subjective & Objective) 2l £ v

;.qjl/:'_u'é.«wﬂvu'u’ TVersion,_c_LJ/_Eu"‘ Versiondzﬁuu»iK;;.Jirz'__(' _:_...uﬁ J,J/J(:' tf, BEY,

clmlbe el A LtKeyl (iSoey _;-u"‘dﬁ’u(‘u L Jed T it Key(MCQs) S
-u:dfﬁ;/w“ Rubrlcsiﬁc.ﬂ?'..’...y{.ﬁﬁtrﬂ:gj ﬁ‘F/.rh,//_‘Ldb.Keyuf(ﬁ;Jqu_y/,dlboffKuiL/J:‘:t
Dated:_02- 4 - 20!8

Prepared & Checked By:

1

2

Leeshan Awad Khaw

SST(S¢e)

Gl 'M.H/sbml-f

3

3

S.# Name Designation Institution Mobile No ,S\ignature

1 | maewg Zaaz ammen] sss (o) GerL HEE Radir |25 | Db

g [Pt SUEN | satise B i e |7 I i}z’/

3 |JAmreeL prar®  lserise Si;:;b ,i/_iSMdh” ; e Ppt

Re-Checked By -l 030F S -e b/ Ve Jrl e ip"Key" 3%, LTl
Rost Midowmed Aok 55760) (Gort'. "7 Koshenolth G

Mo
uthin

Oé—gﬂ - 201X E}JF




— 2018 (A)T . /57%? o
SSC PART-1(9"" CLASS) ”

PHYSICS (OLD SCHEME) GROUP-I o (EaNS G

TIME ALLOWED: 2.45 Hours SUBJECTIVE .2 04525

MAXIMUM MARKS: 63 634 F

NOTE: - Write same question number and its part _.F_{,,,u:%_4,‘JV_fgé@»/’,zﬂlﬁ}dlym{"éb’dlﬁ_@)
number on answer book, as given in the question paper. i

SECTION-1 sl .2

2. Attempt any six parts. 12=2x6 g Mz lizge 3 24y
(1) Define pretixes. " f..d/’ J/‘d; (i)
(i1) How is the stop watch used? . ‘auw Jwﬂ g:fu J-..:L’ (i)
(11i) Differentiate between base quantities and derived quantities. -éc AU sl e 8 Aot Gals (i)
(iv) Differentiate between Rest and Motion. SOOI SS i Gv)
(v) Write the second equation of motion. & =iiled Sef7 ()
(Vi) A s C|iyrmter completes its 100 metre race in 12 seconds. ,:_{a,w,_..q,,,;uvr _.;_L/U"",»J /1[)0u’*# pd,y{_ﬂ {vi)
Find its average speed.
(vii) Explain the law of Inertia. cif....w WSt Zea (vid)
(viii) Differentiate between Braking and Skidding. U s .f 5 S (i)
(ix) Define force of friction. -R__.s/uu’/‘ o (ix)
3. Attempt any five parts. 10=2x5 -F1f utliél}iébc.ét( -3/Jf,~
(1) Define line of action of force. ..fi...v/’dv,fh_)i ng -uu (i)
(i) What is meant by principle of moments? Sesl ey r iy =4 (i)
(1i1) Differentiate between like and unlike forces. - /,gvd/’J'/z!m Yol ;*._f U Giii)
(iv) In how many days the moon completes its rotation round the earth? St/ B0 2P LI~/ Lifixe (iv)
(v) What is meant by the force of gravitation? Sl fi ey UJ’/F».JTU’JJ‘ (v)
(vi) Define energy. Write its unit. 2 261 J/Lv/J $EA (vi)
(vii) Define geothermal energy. -/ )...v/ A E i)
(viii) Define watt. e J/’J.m viii)
4. Attempt any five parts. 10=2x5 & ;uyliﬁliléta‘j Y s
(i) Define young’s modulus. Ay AN WO
(ii) State Pascal’s law. -Ee i AL Gi)
(iii) Why does a piece of stone sink in water but a ship with u iz dfujwuw..ﬁfuﬁ-alrpu;,u.du K/ (iii)
huge weight floats? s c:_w: 7 A
(1v) Define latent heat of fusion. LS /d_, 174 J,: (iv)
(v) Write down two uses of bimetallic strip. G el w,J dw» (v)
(vi) What is a thermometer? e tn 22 (vi)
(vii) What is the use of Styrofoam? Vg ehiie (vid)
(viil) Define conductors. Also give its example. &2y uwu\j év...v/’ S P (i)
SECTION — I 33 .2
NOTE: - Attempt any three questions. 2T=7%3 [ ..c’,{/q;’ ULIJ’L...UI.VU.’ ;&f <

5. (a) Derive the third equation of motion with help of speed-time graph. 4 :‘,”.’»lc_.udgf/[‘ Dy -v,}'ﬂf 77 (s
(b) Change interval of 200 us into seconds and write the 3 B CnalEE e S S ,ma_.,u/s)f 1200 (&)

answer in scientific notation. -dfajv”:’
6. (a) Explain Newton’s second law of motion. 4 el sl y-a,u ¥ (Lh)é
(b) Find the perpendicular components of a force of 50 N 3 Z.Ja'_c_dJLumKSO( ZL r(I X J’DO N ()
making an angle of 30° with x-axis. _z.r-l’ﬂ/“"r‘ (o4F
7. (a) What are the amificial satellites? Find its speed at height 4 (e W nZ €4, 28w §+ (Uh).7

‘h’ revolving around the earth. Jfl;swﬁmf\_; Il b
(b) A car weighing 12 kN has speed of 20 ms™. Find its 3 EdeS e 20 ms’ S 3512 kN O ()
kinetic energy. i 5
8. (a) Define temperature and explaln its different scales. 4 f_».asfﬁﬁbaﬁa,umr '/:}..al/* 0 i/ ()-8
(b) The mass of 200 em’ of stone is 500 g. Find its density, 3- 55:1-‘ ) -;JJJ ;._..qUOg t-/’;;,': 13200 cm’ L (<)

9. (a) State and explain conduction. 4 L/ \_,u.f_.:v ol /_.el/"uu/y (-9

(b) How much quantity of heat is required to increase the 3 & L by F65%a10% f/(QLU Skg (&)
temperature of 0.5 kg of water from 10% to 65% ? sl Sza7
SECTION - IIl ¢y =

10. NOTE: Attempt any two parts. 5+5 ‘g/..,uyémm-_éf (2 10

(a) Find the value of g by free fall method if h; = 4cm, = 4Lm f)-”J g =& LS/ (@)
h; = 80 cm and time for 10 vibrations is = 39 S. 39 S =t 4../,-— 51050 hy =80 cm

(b) Find the weight of an unknown object with the help of s W Jvf"‘r_n J’,r;,ra_,/ "Lwr»rJ;L» (<)
principle of moments by using the following data: B O =

A Q B

i

50 79
é Wy A l:_x_]wz

A=30cm 0O =50cm
B=70cm m =50¢g ',ng'?
(c) Find the area of cross section of solid cylinder, using the data for s~ 1./ L5 y‘u en SOl (@)
Vernier Callipers. B SIS )
Zc =0, Main scale Reading =2 cm X6t = ,c | Ze=0
No. of vernier division coinciding with the MS division =7 7 *.:_J’V ._.;-.»_JCJR.:»W"’ §2
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NUMBER: 5471

SSC PART-I1(9™ CLASS)
PHYSICS (OLD SCHEME) GROUP-1 YL SIS
OBJECTIVE (s .»
TIME ALLOWED: 15 Minutes 215 =D
MAXIMUM MARKS: 12 12:48

c.-..A_r/i..g'::/“fc'_.wﬁL/'rxi.;u}u.'ili?&ib‘z.?«lﬁcfna.u: U!E'Jié;-ié:'b(: ;_)‘)’f‘{'(é Kﬁ}lﬁ-wé?‘_: Du@f&:\&%b’.’;ﬁ JL:LJfrﬁ-l-"d;

--._,:/’..'«gf)fﬁ_".- JJIf4,3.;&3’;;?-(’4-?&305;/?}{3!(&;':;«»‘J{'_./."{d._.fb-(ﬁnjw._.:lﬁnurj U:QJHJL.I{I&KE’_L/‘//‘;;U:}IMJQJ

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correet, fill that Bubble

in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No. LAy
(1) An interval of 200 y s is equivalent to: :.;.d;vﬁsfﬁ?sfmoo (D
(A)0.2S (B) 0.02S (C) 2x10*S (D)2x 10°S

highest point will be: )

(A) -10ms™ (B) Zero (C) 10ms™ (D) None of these 2 (f =t
(3) A change in position is called: e Ol S LRy (3)
(A) Speed 4r (B) Velocity 1s (C) Displacement o5 (D) Distance 6
(4) Inertia depends upon: e bals iz (4)
(A) Force 49 (B) Net Force 4 udeys (C) Mass zu\ (D) Velocity £ 1s
(51 Newton’s first law of motion is valid only in -.LE-J,‘&L’.MKo?rcj’jﬁ'4:£w;,fvfuiﬁngd{ (5)
the absence of : ' ¥
(A) Force # (B) Net Force .dsy (C) Friction G/ (D) Momentum ,"5 o
(6) A force of 10 N makes an angle of 30° with the x-axis. e (b u830° ZvLx-axisy s L1JS 210 (6)
The horizontal component of this force will be: {f...-u,f&’ WS
(A) 4N (B) SN (C) 7N (D) 87N
(7)  Value of g increases with the: e Fradde (D
(A) Increase in mass of the body < &% Lb’(’? (B) Increase in altitude <& zfst
(C) decrease in altitude < i xnf it (D) None of these (= tu
(8) The work done will be zero, when the angle ¢, 3 (J. ¢y il Jolinigid s 8
between the force and the distance is: N
(A) 45° (B) 60° (C©) 90° (D) 180°
(%) The rate of doing work is called: W8 [d PSS (9)
(A) Energy g/ (B) Torque St (C) Power st (D) Momentum ("f e
(1U)  According to Archimedes principle upthrust is equal to: :.;‘-_Jrr,c.l,quzﬁd/du;!&wLd;‘i&-_{ﬁlr (10)

(A) Weight of displaced liquid 4.Zwnlfilnitis (B) Volume of displaced liquid 4L pdsLdlnibes
(C) Mass of displaced liquid z_u.Z.JLf_CELLI:LLg:.»f (D) None of these u.’."' R Jf PEg 0]

(11) is the material which has large specific heat. —e Jobor? wazulize S KL (11)
(A) Copper 4¢ (B) Ice i (C) Water (D) Mercury ./,
(12) is a good radiator of heat. -c__/‘_rdjy(ﬁ’i&:ﬂu (12)
(A) A shining silvered surface Ny Iy (B) A dull black surface & s-Fre S
(C) A white surface & L (D) A green coloured surface A kil
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| 2018 (A) / o
SSC PART-1(9™ CLASS)
PHYSICS (OLD SCHEME) GROUP-1 il (f‘,d,l)u/ 7

TIME ALLOWED: 2.45 Hours SUBJECTIVE _¢ii_» 22 45 _,u
MAXIMUM MARKS: 63 . 634
NOTE! - Write same question number and its part _q_{w.j:;.4,9!;*.!'354:&»/:‘:2»l/dfrtﬁ:4gé(dl£_u)

number on answer book, as given in the question paper.

SECTION-1 Jsl .«

2. Attempt any six parts. 12=2x6 7 :.wérm;c_éf 241y
(i) Define prefixes. -.__..ﬂfd /6 (i)
(ii) How is the stop watch used? _ te ded i ZEht G
(iii) Differentiate between base quantities and derived quantities. __éffrs-v AP J.?L,»-Ium,wu:.— (iii)
(iv) Differentiate between Rest and Motion. ‘f{‘fug Ju.u‘ym‘_/, (iv)
(v) Write the second equation of motion. -.."”.l’l...f!sl/d oldef7 (W)
(vi)A s grmter completes its 100 metre race in 12 seconds. ,g»,lvﬂj,,,rv_;l e/ u"‘“m‘; T{JOU‘”— 17J,,£_,;| {vi)
Find its average speed.
(vii) Explain the law of Inertia. T =—W' (vii)
(viil) Differentiate between Braking and Skidding. _—"f,JLf J/)‘/“.f}» s (i)
(ix) Define force of friction. _.c; e ,’_.-lwr (ix)
3. Attempt any five parts. 10=2x5 é‘;/_,trféurém.&f Ay
(1) Define line of action of force. DA Q._,;:’....J! J(I_JI L,{U (i)
(ii) What is meant by principle of moments? S n/L, e i ¢ Gi)
(ii1) Differentiate between like and unlike forces. -y S0 10 /;i.fuv'ur_x U (i)
(1v) In how many days the moon completes its rotation round the earth? et/ FLuhZ L blas Ctixe Giv)
(v) What is meant by the force of gravitation? Se A e o,-'.f_:ruu:’ (v)
(vi) Define energy. Write its unit. _uf’u_. i( Il ux..aJ/’ JE4 (v
(vii) Define geothermal energy. S / A 2 (vid)
(viii) Define watt. 2L s viii)
4. Attempt any five parts. 10=2x5 s j..,ufﬁvléL:_JfA/duy
(1) Define young’s modulus. &y U«_,f By F (1)
(ii) State Pascal’s law. 2 ESL wﬁ (i)
(t11) Why does a piece of stone sink in water but a ship with ,L;J;U,udwr..fj_,-- ,.c:_rp._,»jJ B a’/ (i)
huge weight floats? ﬁ_,f bk f
(iv) Define latent heat of fusion. E A .rlfd;Ji.W (iv)
(v) Write down two uses of bimetallic strip, i ;{/;_“’U_‘“ InZ S 2l (v)
(vi) What is a thermometer? rall LA (vi)
(vii) What is the use of Styrofoam? *’.»_ b-fI{'i;/v (vii)
(viii) Define conductors. Also give its example. & el ._,.._.wa Ao (i)
SECTION -1 ¢33 .2
NOTE: - Attempt any three questions. 2ZI=7%3 [ -éjulliﬁuﬂlruf c..gjf <)

5. (a) Derive the third equation of motion with help of speed-time graph. 4 *‘f»l;;uo_.:u( “dredia S Al 7 (Lih)s
(b) Change interval of 200 s into seconds and write the 3 vaf_,lf;s|£uk M’.-(.A:c.,,\.i’s): 1200 (&)

answer in scientific notation. RER0E
6. (a) Explain Newton’s second law of motion. 4 S ol EudE ;../»&.Jrf.u ¥ (.6
(b) Find the perpendicular components of a force of 50 N 3 Lyt Gtegi¥30° 2L ,J, X :’JDU N ()
making an angle of 30° with x-axis. ':l""fr‘u'
7. (a) What are the artificial satellites? Find its speed at height 4 Zya'h r._rz_.{wu’&u.; L_,"-'U..z}’(_,f““" ()7
‘h’ revolving around the earth. 7 #ﬂﬂwuw;si
(b) A car weighing 12 kN has speed of 20 ms”. Find its LR d{fu" -2 20 ms’ gg;(u»12 kKN {1 ()
kinetic energy. L7 sWJ/*
8. (a) Define temperature and explain its different scales. 4 .:.’....-?Luf/:&....w;é: sl J A fu 5/ ()-8

(b) The mass of 200 ¢cm® of stone is 500 g. Find its density. 3. Rt vJJF <500 g,m/m‘c_,r#uzno cm Ll )

9. (a) State and explain conduction. 4 L .fub ooy /_r-/"uf»i ()9
(b) How much quantity of heat is required to increase the 3 e L bl F 65”(:;]0“0 ﬁ./(uL{} Skg (&)
temperature of 0.5 kg of water from 10% to 65° ? ed sk Senz
SECTION -III (¥~
10. NOTE: Attempt any two parts. 5+5 i F Mz Lz e §f (o S 10
(a) Find the value of g by free fall method if hy = 4cm, « h = 4cm.w£.r':L"_JJg = B PLJels/ wn
h, = 80 cm and time for 10 vibrations is = 39 S. 398 h..»;i C A £1510 hy=80cm
(b) Find the weight of an unknown object with the help of r"n_u‘jur"“r...n Jf it S et s ()]
principle of moments by using the following data: e
A Q B
3& 50 79
S T
A=30cm O=50¢cm
B=70cm m=50g _ Wa = ?
(c) Find the area of cross section of solid cylinder, using the data for ¥~ 1/l vy F s aﬂ,ré;,' el ()
Vernier Callipers. _ﬁ,;{,wa,w A .|,,
Ze¢ =0, Main scale Reading =2 ¢m 2em =bhik v VA
No. of vernier division coinciding with the MS division =7 7 :.:..J*” fz_m_.,J'"’ AR N KJ’C s
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PAPER CODE 2018 (A) 250 ) Fd

NUMBER: 5473 i
SSC PART-1(9™ CLASS) N
PHYSICS (OLD SCHEME) GROUP-I 04....;.,/ ((:F)U;l W7
OBJECTIVE (3> .~
TIME ALLOWED: 15 Minutes 2 E R
MAXIMUM MARKS: 12 12 :/-’? cf

e L5 A e B SN 51 S o Colderna Sund sl LJV,@@QE’QULQ&V e DHICBASAR .'fzhge:;)b’ﬁ-h:w;

,u:/r.:uw :}’;.:.mr/',;/, .glyuff-'b’?..'?i,- ;_,'.‘.7.' .‘L:l,f/vf I d/d'_/:}{a_,f b yssd L .._.,.u?u.vfj. L}:.:ﬂ:f‘d/;"../f.—i /r..:.aﬂ_d'_;)i .r/.,_ls,?.';a.:&}

Note: You have four choices for each objective type question as A, B, C and D . The choice which you think is correct, fill that Bubble

in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank, No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.,

QQ.No.1 -l/.-}dlf
(1 A change in position 1s called: :q’.JW/J:J? \,fi;ﬂig (1)
(A) Speed ir (B) Velocity §us (C) Displacement =23 (D) Distance bt

(2) Inertia depends upon: b ALK ()

(A) Force 4uf (B) Net Force zuder (C) Mass ;U\ (D) Velocity 5 ts

(3) Newton’s first law of motion is valid only in -4-17!?;:"-“'"KoFf‘dijségdi:}fufJ)ﬁfﬁ;i}(__ @)
the absence of : ! w
(A) Force ¢ (B) Net Force .8y (C) Friction %) (D) Momentum 7= »
(4) A force of 10 N makes an angle of 30 with the x-axis. e Qb aaiK30° £ Lxeaxis AL £10 (4)
The horizontal component of this force will be: :?n;{:ﬁl?rh@;;w
(A) 4N (B) 5N (C) 7N (D) 87N
(5)  Value of g increases with the: e Preddy (5)
(A) Increase in mass of the body c.,.'ﬁ::u’wf-‘ (B) Increase in altitude < & 74>
(C) decrease in altitude ;..J_ﬁ,f Sk (D) None of these HE e
(6) The work done will be zero, when the angle ¢, . 7,5, vy e L Lo sgidos O
between the force and the distance is: ' A '
(A) 45° (B) 60° (C) 90° (D) 180°
(7)  The rate of doing work is called: &L PSS ()
(A) Energy (/1 (B) Torque ok (C) Power s\ (D) Momentum l;';:‘:’
(8) According to Archimedes principle upthrust is equal to: :.:;.Jﬁ4|.4L,VJ};L§/J@:F&lb/d:;jy‘fd:u";g‘&;' (8)

(A) Weight of displaced liquid x_rx.f.u;;LCch’..ué.Ly_-a (B) Volume of displaced liquid 4i.& 2L Eiliibix
(C) Mass of displaced liquid z,u[.gt.icf';&..ui_.?_w (D) None of these &' (&l Lt

9) is the material which has large specific heat. dq_u?b{.ay‘?;ulfa_-pﬁr‘_uﬁ}:‘gr (9)
(A) Copper ¢ (B) Iee Jx (C) Water .;35 (D) Mercury §./ »
(1) isagood radiator of heat. T YO AR B (10)
(A) A shining silvered surface ﬂ’J}'Juﬂ,ﬁ £ (B) A dull black surface ﬁ’e‘l..«-._}'ﬁjc'__...ﬁl_/'
(C) A white surface iﬂg..{l (D) A green coloured surface i’u’..i-’,,:,fug ';
(11)  An interval of 200 s 1s equivalent to: :q_.dsw.53fiﬂ,?st200 i)
(A)0.2S (B) 0.02°S (€) 2x10°8 (D)2x10°S
(12) A ball is thrown vertically upward. Its velocity at the ;u"ﬁu’/mdfuqérg,w:;é_;_It_'fE‘:ﬁ:/_,]f,/,r_g:l?__g,- (12)
highest point will be: ' ‘ :
(A) -10ms™ (B) Zero }* (C) 10ms™ (D) None of these & /=ty

a 3o
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PAPER CODE 2018 (A) (%7 A Ji
NUMBER: 1471 e

SSCPART-1(9™ CLASS)
PHYSICS (NEW SCHEME) GROUP-I AL CIING
TIME ALLOWED: 15 Minutes OBJECTIVE u:p’ > o> L5
MAXIMUM MARKS: 12 1248

r_,.._flJ:.:’E:ﬂ’:;..;ﬁl_.;’:L:(a/’b;ii-'/&flbfL....-'.'?:./uc:..u:u:f'bi@JLV&JW,{/TQKL}!:?..VEZET)D J’I"CIB‘A&?‘K.’-?;ELJU’/{-&;
_k_,i/,.'-_)w }F/;.:.- ijrr.;.3,;1_)&JI4-59&"..L_v:)kjf,ﬂi;j!fvf_".J:‘d/x:_.//;{c_./’is_b‘r:fn‘;biﬁ._..!:?u:rj u:...':.;':"’J’é_/"{/.:aﬂc._./r{!/usfl)aJ_L'J

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question, Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
casc BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 1Ay
(1) The number of base units in SI is; :c__Ju,jJJ‘-'w,?u:S] (1)
(A) 3 B) 6 ©) 7 (D) 9
(2) A body has translatory motion if it moves along a: e eSS S nd P-uf/’wﬁfaf{""u”r 2)
(A) Straight Line (24" 1 (B) Circle &0
(C) Line without rotation &le_# 2/Uf] (D) Curved path ;_:_:/!..r;l:r;
(3) Inertia depends upon: :%rn;LflK_l:jf 3)
(A)Mass (Ul (B) Net Force 4 S (C) Friction u’// (D) Momentum f;["" ¥
(4) In system international the unit of momentum is: :;La.;g(f“"-"rurzv"’?;!/" 4)
(A) Nm (B) Kgms” (C) NS (D) NS
(3) A force of 10N makes an angle of 30° with the X- -.T_.JLa,,_su{in" ,a’viff‘ -Xud L 210 (5)
axis. Horizontal component of this force will be: i n_*::‘;;'/;}i 9104
(A) 4N (B) 5N (C) 7N (D) 87N
(6) Earth’s gravitational force of attraction vanishes at: 1{_.&{?Ku_fuurJ}U¢:,d,f)fJ o~ (6)
(A) 46400 km (B) Infinity lety (C) 2 42300 km (D) 1000 km
(7)  The energy stored in a dam water is: :@Jﬁdffaﬁaﬁjdﬁgi.{i (N
(A) Electrical energy Gak (B) Potential energy Lﬁ}fdﬁ-‘f;
(C) Kinetic energy gﬁ)ru@';jb/ (D) Thermal energy Gt #
(8) In Einstein’s mass-energy equation “C” represents the: e b A6 e AT T (8)
(A) Speed of sound St 1T (B) Speed of light i/éfl,((fu
(C) Speed of electron ¥ 4x s 4 (D) Speed of earth S 4xr s
(9) Approximate length of a glass tube to construct a i bl DU RS EEL Lt 2 ahdl (9
water barometer should be : i *
(A) 0.5m (B) 1m (C) 25m (D) 1lm
(10) effects evaporation. _a‘..‘c‘/}r:zfufi;,;.g! (10)
(A) Temperature 77 (B) Surface area of liquid L¥& J&t  (C) Wind 1# (D) All of these Hi#ri7.
(11) material has large specific heat. _q.u"bb’.é:“"aJ'ia:_L,i g2 an
(A) Copper 4§ (B) Ice < (C) Water Jg (D) Mercury §.//
(12) If thickness of wall is doubled, its thermal conductivity: :Cix"{ifJ,?JJi,;.:'../u’iJurJﬂg;-\f (12)
(A) Becomes double c‘_g:llf»ntﬁ’ (B) Remains the same < (7.
(C) Becomes half ,T_J{?nu’ﬁ (D) Becomes one fourth {_.J'?Yf{jlﬁ?r;.g'
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PAPER CODE
NUMBER: 1473

2018 (A)

SSC PART-1(9™ CLASS)
PHYSICS (NEW SCHEME) GROUP-I

MAXIMUM MARKS: 12 12/7;’L./K

Lb{f_ﬁ',),éc.wj}.}rﬂ;afb.w&&/ qu.r?_“/uc.JUJ}F:zf__..,!&.lfﬁdbﬂf‘f?té{db?-wéér;[) J:FC-BfA.:«EIJT.'-L;J{g:.CdVﬁ-@)
-V:f.:J’?’,q.:.urm;,%,‘iaruz-h’?_ng:vif}/éfu:.:.MJL./’.:.g;;u-b”m)‘"w.,.mufju:_-.m;fi./{,f..:,‘slé.f{fw}!mg;

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LAy
(1) Insystem international the unit of momentum is: :.T__.:.;gb”f‘;f P J}: f!fJ (1)
(A) Nm (B) Kgms” (C) NS (D) NS
(2) A force of 10N makes an angle of 30° with the X- -c_-Jt;_,_,suE'E.O“ Juﬁff! “XusLifes£10 @)
axis. Horizontal component of this force will be: ;fﬂ_,_;,_.-,{&* KU
(A) 4N (B) 5N (C) 7N (D) 87N
(3) Earth’s gravitational force of attraction vanishes at: :?.g@ngguf;}ﬁ,dgf&-d (3)
(A) 6400 km (B) Infinity J<issy (C) 4 42300 km (D) 4 1000 km
(4) The energy stored in a dam water is; :g..Jer.}la.c“a Z .iu.’ffjgéﬁi (4)
(A) Electrical energy u’.}ldé. ).ﬁ! (B) Potential energy d)i.}ﬁf{
(C) Kinetic energy G1-&J¥ (D) Thermal energy 31 J #
(5) In Einstein’s mass-energy equation “C” represents the: :ﬁ;.t‘)}w"c”uf ehlaGi-AdFe T (5)
(A) Speed of sound S Eont (B) Speed of light /&{J'&u
(C) Speed of electron f, ,QA;J@; }gl (D) Speed of earth v ,;,;J 0t
(6) Approximate length of a glass tube to construct a e b iUt f L Lt bl (6)
water barometer should be : ¥ '
(A) 0.5m (B) 1Im (C) 25m (D) 1Im
(7) ____ effects evaporation. et 3o Fuy) (7)
(A) Temperature ,g.,;‘ (B) Surface area of liquid g;;f%"(f‘ e (C) Wind 1 (D) All of these J1#U,
(8) material has large specific heat. e Sk r 7y JA @)
(A) Copper ¢ (B) Ice S (C) Water Gg (D) Mercury ./,
(9) If thickness of wall is doubled, its thermal conductivity: (M AL A ity ©)

(A) Becomes double ‘T_th::l:fi
(C) Becomes half ‘L'Jt_pno’ ST
(10) The number of base units in SI is:

(A) 3 (B) 6
(11) A body has translatory motion if it moves along a:
(A) Straight Line 22" s
(C) Line without rotation /:‘a’r;_;u':;fu..{l
(12) Inertia depends upon:
(A) Mass LUl (B) Net Force ; /4es

(C) Friction 4 o~ /

(B) Remains the same 4‘-6"’;0”‘:
(D) Becomes one fourth *T—J’@' wdF 7L
e B ST (10)
D) 9
:c‘_.t'/(:fj’n)’;urndkul/'c;f{ﬁuj (11)
(B) Circle  (Zo7is
(D) Curved path ztbsf

(C) 7

e baAdigEn (12)
(D) Momentum {,(‘“-/r

ar
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PAPER CODE 2018 (A) 1 A
NUMBER: 1475 ~—

SSC PART-1(9™ CLASS)
PHYSICS (NEW SCHEME) GROUP-I b L (27
TIME ALLOWED: 15 Minutes OBJECTIVE J‘;/’,.v? S50y
MAXIMUM MARKS: 12 1245

e L8 A i\ A n?b_‘ib‘;‘&&/.ff..,-iﬁ.v;:.:,u.'u:)'bzé,_.:.':.krﬂdir;_{,géﬁ’dlﬁupjéi_.)D J;JCtB‘A.;,L,!;?;J?Jkg&JJrﬂ-&)
_u“/'::«up}r/;:.Ulr.;_ga;,‘llrgj-fﬁ_i.gpuﬁ}/r‘;éfu‘: ..-.u:‘d’i./".:«.i ;.?U_{n.rr‘jhii.._.«li,ufiJ:-;:"Jr’_./r}'/..‘.«ﬁ_i./”{;rw}lmp

Note: You have four choices for each objective type question as A, B, C and D ,The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LA
(I) The energy stored in a dam water is: :.;_f}mj’.}!a}u j’su:&gaiﬁj (€))
(A) Electrical energy AL (B) Potential energy &)sﬁjg
(C) Kinetic energy &6 ¥ (D) Thermal energy §./t J #
(2) In Einstein’s mass-energy equation “C” represents the: et A" el G- T ()
(A) Speed of sound S tx(nT (B) Speed of light :(&gurdi:x
(C) Speed of electron :’:_‘«;;Jus/-?i (D) Speed of earth S St
(3) Approximate length of a glass tube to construct a e bl U2 L Lt abd )
water barometer should be : o ’
(A) 0.5m (B) 1m (C) 2.5m (D) 11m
4) effects evaporation, et Sl 2o (4)
(A) Temperature lg./f (B) Surface area of liquid g.;lb’fJéL (C) Wind 1» (D) All of these J1# 71,
(5) material has large specific heat. el rs 2 2l Jx (S
(A) Copper ¥ (B) Ice S (C) Water Jg (D) Mercury ./,
(6) If thickness of wall is doubled, its thermal conductivity: (LS AT N Wderdang” 6)
(A) Becomes double ‘Lat.gnl:fj (B) Remains the same < (",
(C) Becomes half < Jus(f7 (D) Becomes one fourth « (b5
(7)  The number of base units in S is; :_?__JU;JU#MJ?JSI (7)
(A) 3 (B) 6 ) 7 (D) 9
(8) A body has translatory motion if it moves along a: =¢_t'/r~=fh:/r!u(ﬁ6ﬁu'-’c;r‘&)'dj (8)
(A) Straight Line (#£" s (B) Circle
(C) Line without rotation & # Ut Fuf] (D) Curved path x,:»ruuﬁ
(9) Inertia depends upon: PRIV C)
(A) Mass 4l (B) Net Force 4 Jides (C) Friction o /,’ (D) Momentum ,;f""“-/ ¥
(10) In system international the unit of momentum is: :s‘;...v':_'({*“;f rgﬁﬁ.}'l(*" (10
(A) Nm (B) Kgms™? (C) NS (D) NS
(1) A force of 10N makes an angle of 30° with the X- -.;_St‘.,_.‘;uh’:;o"jvé;rfi Xy LSer 710 (11)
axis. Horizontal component of this force will be: 4 ﬂb_g;,f{f’ LIV
(A) 4N (B) SN (C) 7N (D) 8.7N
(12) Earth’s gravitational force of attraction vanishes at: :q_J*.gn_.;t;uU}ﬁ’dg,waj (12)
(A) 26400 km (B) Infinity by y (C) 2 42300 km (D) , 1000 km
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PAPER CODE 2018 (A) %/g/ A Ju
NUMBER: 1477

SSC PART-1(9™ CLASS)
PHYSICS (NEW SCHEME) GROUP-I bgr (ISP

TIME ALLOWED: 15 Minu % LA]5ed
MAXIMUM MARKS: 12 12AF

&t _Z_E'.J/fcﬁgﬁkﬂl.ﬁ}hw dLdzern c.,g}:u.&fl.!é PSP RV idlrﬁ{,g‘}'h’gyﬁ_gﬂié.:D .JAFCIB:A.:'.'I..U'.'.‘«G ;L;Z.d#rﬁ_dw;
W:/&J’fﬁaﬂff.;{.;.:’ir JL—KZ..L.VL)J:';/J}'/Q:&J}J L,(/_./-ui L.fi:_(ﬁu‘jbﬁ.,.lﬁui/j uf.:«;r’dli../{/r.i. KQL./"}* ;ru;?hu}_}

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 1Ay
(1) effects evaporation. PR 5 (5] (1)
(A) Temperature ,g:/;" (B) Surface area of liquid g;;rsif S2h (C) Wind 1» (D) All of these J17 017,
(2) material has large specific heat. ce Sk i Jx @
(A) Copper /¢ (B) Ice iz (C) Water (i (D) Mercury §./,
(3) If thickness of wall is doubled, its thermal conductivity: (AL AN S8 S )
(A) Becomes double q_JlgnL'fi (B) Remains the same < (74§
(C) Becomes half ‘L&l_vﬂ(}’ ST (D) Becomes one fourth c‘_BLgnJL?:;..{ I
(4) The number of base units in SI is: =.f_:lﬁJu*zd:L%u-‘Sl (4)
(A) 3 (B) 6 (C) 7 D) 9
(5) A body has translatory motion if it moves along a: :‘Lir/.:fiuﬁgfndﬁ’-r}c?r‘&"’f (5)
(A) Straight Line 22" 15 (B) Circle (o7t
(C) Line without rotation e # £fu L] (D) Curved path =1t/
(6) Inertia depends upon: :q_.t';:M’!K_l:i/'r (6)
(A) Mass (B) Net Force ; udey (C) Friction 4 f/}' (D) Momentum {_(""fr
(7) In system international the unit of momentum is: :q_;}{(ﬁy‘u':ﬁfi}/ (7
(A) Nm (B) Kgms~ (C) NS (D) NS
®) A force of 10N makes an angle of 30° with the X- _f_Jb.,_,;unO“iLrif:* ~Xuid Lt £10 (8)
axis. Horizontal component of this force will be: :gn.;':.:';;‘(&; KA
(A) 4N (B) 5N (C) 7N (D) 87N
(9) Earth’s gravitational force of attraction vanishes at: :;.J@n...«ftew}d%d;_’fgf i (9)
(A) 4 6400 km (B) Infinity kb0 (C) 42300 km (D) , 1000 km
(10) The energy stored in a dam water is: :Q.Jy:df'u}a/:':iw(}i:aﬁﬂf (10)
I(A) Electrical energy J.)rﬂ/'.al (B) Potential energy J.x'fd""'-);
(C) Kinetic energy G163 (D) Thermal energy ) #
(11) In Einstein’s mass-energy equation “C” represents the: :z‘-_t'fﬂLE"C"u: et A dT (1)
(A) Speed of sound ¥ tx {7 (B) Speed of light fé{qu
(C) Speed of electron Sz fius 2 (D) Speed of earth Y 4xr b

(12) Approximate length of a glass tube to construct a
water barometer should be :
(A) 0.5m (B) Im (C) 2.5m (D) Ilm

:%%Jni;rjr&yJ.,,.{uféfe',éi_.t;/’{:,;.b”&g (12)
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NUMBER: 1472 SSC PART-1(9™ CLASS) N
PHYSICS (NEW SCHEME) GROUP-II (2015-17/%) s/ (E WD
TIME ALLOWED: 15 Minutes OBJECTIVE U‘bﬁf’»-‘} N B R
MAXIMUM MARKS: 12 lZ/JuK

c:.......L_/f-é}/‘f;u{?&ﬂhﬂ/’b.‘ﬂ;/&Q:«’i__.Ji.‘u.:-'»c:...u‘:U’s}i:z2..._-)é‘.v&:dir‘/p;{,éb/dfﬁ-u:fé"L‘_.JDJ!foBfA:.-LJ?.&g;ig[.JIrﬂ-h:#;

LSS L peir g I NN Ko A fmirr SL T se i K et insd 3 Sz sr? S S5 S M TG st

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble

in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 1Ay
(1)  The unit of volume is: e gkl (1)
(A) Meter = (B) Force .7 (C) Cubic meter % £ (D) Second £
(2)  The formula of velocity is: e Uy KU (2)
) V=1 ® V=2 © V=d+t (D) V=h+t
(3) The unit of force is: ek s (3)
(A) Meter * (B) Second £ (C) Joule Jz (D) Newton ¢/¥
(4) The formula of momentum is: :.T_.Ur'.atsb’f'"‘-” » (4)
(A)P=ma (B) P =mv (C)P=dt (D)P=Fxd
(5)  The Moment Arm is represented by a sign: :f.r;?y’ﬁwc..____yw;’(ﬁyr (5)
(A)T (B)L (C)F (D)N
(6) The formula for mass of the earth is: e UKLt (6)
(a) M= ®) me=R& (©) Me= R;G ©) me=2E
(7)  The unit of energy is: e g¥G A (7)
(A) Newton ¢y (B) Joule Jsz (C) Meter # (D) Second &
(8)  One kilo joule is equal to: :a_;.t"mi/.dﬁ:"/.gi (8)
(A) 101 (B) 10%] (C) 10°J (D) 10'J
(9)  The unit of density in System International is: :g....*.—‘;fﬂ;‘/" -jgfﬁ‘f'fl_/ (9)
(A) kgm (B) Kgm” (C) kgm” (D) kgm™
(10) The formula of conversion from Celsius to Kelvin Scale is: :q_umi.ib’gizg' VCJ:Cu)fa_J-’Jf (10)
(A) T(K) = 270+C (B) T(K) =271+C (C) T(K) = 272+C (D) T(K) =273+C
(11) The specific heat of ice is: :c__.n-"""'—--ﬂfd/-‘z (i1
(A) 2100 JKg' K (B) 2200 JKg' K (C) 2300 JKg' K (D) 2400 JKg' K
(12) érl::'ssvilslue of coefficient of linear thermal expansion of e BRI LB £ (12)
(A)1.9x10° K" B)1.9x10°K" (©)1.9x 107 K (D) 1.9x 10* K
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1

The unit of force is:

(D
(A) Meter ~

(B) Second £

(C) Joule J2

_l/dir

te b (1)

(D) Newton ¢+

(2)  The formula of momentum is: :,;.Ufjlib”(“"—/r‘ 2
(A)P=ma (B)P=mv (C) P =dt (D)P=Fxd

(3) The Moment Arm is represented by a sign: e bl b erlkdrfesy (3)
(A)T (B) L. ©F (D)N

(4) The formula for mass of the earth is: e Uy ALt (4)
@A) Me=%§- (B) Me= "é & (C) Me= R;G (D) Me= Glg

(5) The unit of energy is: e g5 (5)

(A) Newton /¢ (B) Joule Jz (C) Meter # (D) Second £

(6) One kilo joule is equal to: e tna a2 E L (6)
(A)10] (B) 10%] (C) 10*] (D) 10%]

(7)  The unit of density in System International is: :.g__ugs’d”" ..5u:UW;-'|(‘" (7)
(A) kgm'1 (B) Kgm'2 (C) kgm™ (D) kgm"‘

(8) The formula of conversion from Celsius to Kelvin Scale is: ::‘_umiiﬁ,{ i u.‘fuk‘cd)gc-;ﬁ'&’ (8)
(A) T(K) =270+C (B) T(K)=271+C (C) T(K) =272+C (D) T(K) =273+C

(9) The specific heat of ice is:
(A) 2100 JKg' K

(10 brass is:

(B) 2200 JKg' K
The value of coefficient of linear thermal expansion of

(C) 2300 JKg' K™

:q_.ﬂr“?.‘.‘ul]JJ.{ 9)
(D) 2400 JKg' K

e wd JeB @ st 7 L% (10)

(A)1.9x10° K" (B)1.9x 10° K™ (©1.9x 107K (D)1.9x10* K"
(11) The unit of volume is: e gk (11)
(A) Meter ~ (B) Force ¢ (C) Cubic meter ¥ £+ (D) Second A&

(12) The formula of velocity is:

t
V=—
(A) q

(B) vz%

(C) V=d+t

e Uy 650 (12)

(D) V=h+t

19 (Obj)(3r¥r )-2018(A)- 48500 (MULTAN)




PAPER CODE 2018 (A) [ "5/’7( ey

NUMBRR: T SSCPART-I(S™CLASS)
PHYSICS (NEW SCHEME) GROUP-II (2015-17¢%) gt/ (E ISP
TIME ALLOWED: 15 Minutes OBJECTIVE (.fbﬂ/"ﬁ? L2150
MAXIMUM MARKS: 12 1248
a1 S i SAS 3 Jr Lz e St s L Eiv 1y QKr_}m-wi.’:,Jan-C:B(A‘:.gsﬁ-;f;gédirn--b}
L2 petiy o g dr NS A Lo S S g 31 KrisP sl s b Som st S TGS e A rtesss
Note! You have four choices for each objective type question as A, B, C and D . The choice which you think is correct, fill that Bubble
in front of that question number, Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in
that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,
Q.No.1 Ay
(1)  The formula for mass of the earth is: ey MLt (1)
(A) Me=%‘f— (B) Me:% (C) Me= R;G (D) Me= G;;g
(2)  The unit of energy is: e gk (2)
(A) Newton /¢ (B) Joule Js# (C) Meter # (D) Second &£
(3)  One kilo joule is equal to: :q.rrfx*4u'£:g—@ (3)
(A)10] (B) 10%] (C) 10°] (D) 10%]
(4) The unit of density in System International is: :..;_.:.f':_fs’&"‘ -5u':;,,-"";"" A @)
(A) kgm (B) Kgm'2 (C) kgm'3 (D) kgm™
(5) The formula of conversion from Celsius to Kelvin Scale is: :c__uyuli&{ ,;U:J:C o ;_u:”? (5)
(A) T(K)=270+C (B) T(K)=271+C (C) T(K)=272+C (D) T(K)=273+C
(6) The specific heat of ice is: iy 27§ (6)
(A) 2100 JKg!' K (B) 2200 JKg' K (C)2300 JKg' K (D) 2400 JKg' K
™ bfilaz S\/flslue of coefficient of linear thermal expansion of :q'—-::ﬁfu(-’«'«:" B L Lisdsl JE
(A)1.9x 10° K (B)1.9x 10° K" ©19x 107 K" (D) 1.9x 10* K"
(8) - The unit of volume is: e igkpads (8)
(A) Meter ~ (B) Force (¢ (C) Cubic meter < ..J,’:d/ (D) Second £
(9) The formula of velocity is: e Uy AW Us (9)
(A) Vz% (B) V=% (C) V=d+t (D) V=h+t
(10) The unit of force is: e 2gfud (10)
(A) Meter ~ (B) Second i£ (C) Joule J» (D) Newton /¥
(11) The formula of momentum is: :;.ur;us’lf";-/r (1
(A)P=ma (B)P=mv (C)P=dt (D)P=Fxd
(12) The Moment Arm is represented by a sign: et ﬁwa._‘_.:/w}ﬂ;rr (12)
(A)T (B)L (C)F (D) N
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Note: You have four choices for each objective type question as A, B, C and D . The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in

that question, Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBIECTIVE PAPER.

Q.No.1 1Ay
(1)  One kilo joule is equal to: :qm.udm&{: (1
(A)101] (B) 10°] (C) 10°J (D) 10%]
(2)  The unit of density in System International is: :‘;.:.«‘:b’d"; IN-N of FiET @)
(A) kgm™ (B) Kgm™ (C) kgm™ (D) kgm™
(3) The formula of conversion from Celsius to Kelvin Scale is: :.;.ur;i;’s’d_ & uCL}:C u:‘:(cﬂw"if (3)
(A) T(K) =270+C (B) T(K) =271+C (C) T(K)=272+C (D) T(K) =273+C
(4)  The specific heat of ice is: e o 27§ (4)
(A)2100 JKg' K (B) 2200 JKg"' K (C)2300 JKg' K (D) 2400 JKg' K

The value of coefficient of linear thermal expansion of

(5) brass is: e el S i dasgp LS (9)

(A)1.9x10° K™ (B)1.9x 10° K" (©)1.9x107K* (D)1.9x 10% K
(6) The unit of volume is: e gkrsdls (6)
(A) Meter ~ (B) Force ¢ (C) Cubic meter ¥ £ (D) Second £
(7)  The formula of velocity is: i Uy 65U (1)
(A) Vzé— (B) vz% (©) V=d+t (D) V=h+t
(8) The unit of force is: e siy6Uud (8)
(A) Meter ~ (B) Second £ (C) Joule Jz (D) Newton /¢
(9) The formula of momentum is: :‘_:.u,v'jtib’(";-/ » (9)
(A) P=ma (B) P=mv (C)P=dt (D)P=Fxd
(10) The Moment Arm is represented by a sign: :.;.‘:L?,L,f,;uigi.-:/wf phey (10)
(A)T (B)L (OF (D)N
(11) The formula for mass of the earth is: e by AL A (1)
@) Mezi‘f (B) Me:igéi (C) Me= Rng (D) Me= (j;g
(12) The unit of energy is: | ey (12)
(A) Newton /¢ (B) Joule J» (C) Meter ~ (D) Second &

19 (Obj)(e¥eve ¥ )-2018(A)-48500  (MULTAN)




